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501 &4t=2 23,400 23,400
01 2I2ts A= 23,400 23,400
OMaSAHE dUEss N&
13,000, 0002 *3S*60f% 23,400
SOHE HIFHES 218 IHIAE 57,000 57,000 0
& 28,500
= 28,500
301 EtE NS 57,000 57,000 0
= 28,500
o 28,500
14 DBt 2 a=S 57,000 57,000 0
Os0E HIF=AHE I EHIAY 57,000
—=dIOIE XIS 3,000,000 17 51,000
== 25,500
o 25,500
—get XS 1,000,000 x6= 6,000
= 3,000
= 3,000
SOE NS 21 ZHIAE 100,000 100,000 0
= 30,000
o 70,000
301 EtE NS 100,000 100,000 0
s 30,000
s 70,000
14 0Bt 2a s 100,000 100,000 0
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2A: 2
S HY2AAH(2RD)
&l D122 (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—SAEX Y
23,5003 *20 A+ 123 5,640
—SAJ| Xtz 330,000 x2CH+ 123 7,920
— T2y sX2eltl 200,000 *43| 800
202 0441 4,872 4,368 504
01 =2LHO4 ] 4,872 4,368 504
SN2 2H0iH
20,000 *29Y 0. 72| x 123 4,872
203 PYR=&IH| 5,040 5,040
M MBI HRFA| 5,040 5,040
ORN2ZE FFAHI 420,000 128 5,040
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